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Section I
Answer all guestions,

1. Which of the following substance has the highest clasticity ?

(a) Steel (bl Copper.
{e} Rubber. (d} Sponge.
2. The breaking stress for a wire of unit cross-section is called as :
fa) Yield point. (b} Tensile strength.
(e} Elastic fatigue. (d) Young's modulus.
3. The practical limits of Poisson’s ratio lies betwesn :
fa) —= o+, (b} Oand L
(e) Oand . {d) 0and-1.
4. The theoretical ratio of Poison's ratio lies between :
(#) 0nnd % (b) Vito+ ¥,
(e} 1 and ¥ (di =Jand %

6. The total energy of a particle executing SHM is proportional to the :
(a) Displacement from equilibriom position.
(b) Frequency of escillation.
(e} Veloeity in equilibrium position.
(d) Square of amplitude of motion.
6. What is the length of seconds pendulum where g = 9.8 m/s??
i} 0.78 m. (by 0.B8 m.
c) 0992 m. (d) 1.024 m.
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The potential eneriry 1 of p simple harmanie suvillator when the particle is half way g 4

point is |
(a) UM (b) LI/8,

(e} 20U, (dy & LI2.

The magnitude of neceloration of a particle executing simple harmonic oscillation ﬂ:lﬂmh
of maximurn displacement is :

in) Zoro, (b) Minimum.

(e} Maximum. id) Neither a maximum nor 4 minimum.
Ripples on the surface of water is an example of ;

(a} Longitudinal waves. ib) Non-mechanical waves,

(e} Transverso waves, id} None of the above.

If the particles of a medium are in the same phase of vibeation at every point on 3 gt
then it is |

(a} Longitudinal waves. (h) Wave front.
(e) Transverse waves, (d} Interference.
Intensity of sound has .
{a) An objective existence. (b) A subjective existence.
(c) No existence. (d} All are true:
Decibel is
(a) Musical instrument, (b} A measure of
(e} Measure of spund lovel, {d) ﬁmdm@.
(12 x 44 = 3"‘# |
Section 11
Answer all questions. |
Define Stress and Strain.
State Hooke's law
Why is # enntilever of uniform cross-ssctiog mare likely 1
What is meant by Periodic motion ? ““““ﬂm h“"“ﬂrlﬁﬁ:ﬂduﬂf

Give two important charastaristics of wive motion,
Dacins 5 AT sy tn i pline o aive LS
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Section 111

Answer any five questions,
22. A gold wire 3.2 = 10" m in diameter clongates by 109m when stretched by a foree of
0.33 kgwt. Find the Young's modulus of the material if the length of the wire is 0.6 metre.

23. A wire 4 metre long and 3 x 104 m in dismeter is strotchod by a force of 8 kewt. If the
extension in length is 1.5 x 10~ m, calculate the energy stored in the wire.

Derive an expression for the couple per unit twist of a uniform solid cyvhinder,

A body having & mass of 4 x 10~ kg executes SHM. The force acting on the body when
displacement is 0.08 m is 24 = 10 kgwt. Find the poriod.

26, What are Lissaton's figures ? How nre they formed 7

27, Asource of sound has a frequeney of 512 Hz and an amplitude of 25 x 10~ m. What is the flow
of energy across unit area per second? Density of air = 1.29 = 10% kg/m® and velocity of sound
n air = 340 mfs.

28, hmhrwmaiﬂundaramﬂmnfmﬁlnithu!mﬁhd'thhﬁmﬂhﬂﬁmﬂlﬂm#fﬂu

sitar wire weighs 2.2 x 10~ kg, find (a) Speed of the transverse waves on the wire ;
(b) Fundamental frequency of vibration,

E‘i".f

{6 x 2 = 10 weightags)
Seetion IV
Anwrlrmm;uﬁm
29. What is bmﬁmmlfm&ﬁnﬂnmnhmm“-pmmgm

m;ﬂudmﬂuhﬂnﬂlmn
0] sxpresgion for the velocity of propagation of a transverse disturbance in a stretched

: mga mmm hm of transverse vibrations of strings.
3 wimentally mﬂm?ﬂm;ﬂhihmﬁq ,"
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